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QUESTION 1

What is "instanceof" an example of?
A. a boolean

B. an operator

C. a function

D. a language construct

E. a class magic

Correct Answer: B

QUESTION 2

Which of the following statements is correct?

A. Interfaces can extend only one interface

B. Interfaces can extend more than one interface

C. Interfaces can inherit a method from different interfaces
D. Interfaces can redeclare inherited methods

Correct Answer: B

QUESTION 3

Given a JSON-encoded string, which code sample correctly indicates how to decode the string to native PHP values?
A. $json = new Json($jsonValue); $value = $json->decode();

B. $value = Json::decode($jsonValue);

C. $value = json_decode($jsonValue);

D. $value = Json::fromJson($jsonValue);

Correct Answer: C

QUESTION 4
FILL BLANK

What is the output of the following code?
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function increment (Swval)

{

Sval = Sval + 1;
}
Sval = 1;
increment (Sval);
echo Swval;

function increment ($val)
{

$val = $val + 1,

}

$val = 1;

increment ($val);

echo $val;

Correct Answer: 1

QUESTION 5

How many elements does the array $matches from the following code contain?
$str = "The cat sat on the roof of their house.";

$matches = preg_split("/(the)/i", $str, -1, PREG_SPLIT_DELIM_CAPTURE);
A2

B.3

E.9

Correct Answer: D
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